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HIGHER SECONDARY
FIRST TERMINAL SECOND YEAR EXAMINATION - 2018-2019
ECONOMICS
Meaximum : 80 scores
Time : 2V Hours
HSE 11 Cool off time : 15 minutes

General Instructions to Candidates;

s There is a ‘Cool off time" of 15 minutes in addition to the writing time.

«  Use the ‘Cool aff time' to get familiar with questions and to plan your answers,

«  Read the instructions carefully

*  Read questions carefully before answering

s Calculations, figures and graphs should be shown in the answer sheet itself.

»  Malayalam version of the questions is also provided.

s Give equations wherever necessary.

»  Electronic devices except non-programmable calculators are not allowed in the examination hall.
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Answer all questions from 1 to 8. 1 0ol 8 iR MATISIEE DR ¢l aa]e
Each carries 1 score. (8x1=8 HOMAA2PIMIS. ISRIMIMe 1 Mited niime
Bxl=8

1. Who is the founding father of Modem 1 eRwyrle momavile @mimamiler

Economics ? aflmoang?

! o)) ©8.aJe Oaam0mM
a) J M Keynes h) Alfred Marshall 2l 69 a0 20t
) Adam Smith d) David Ricardo mil) mgae e’
af) eavnflay olaean?

2. A market economy is 2. 66} SEMDS MMITT Ay

a) Profit motivated economy op) EDERZ/DIE8 MM QYoM

b) Private ownership economy il MY HSAMOMBIES TITID” AYANTLO

¢ Capitalist economy ml) A2EeRENn VI QYT

d) all all) agle
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3. Which is a Stock Variable ?
b) Capital

d) Investment

a) fncome
¢) Consumption
4, When the price of the good rises the total

expenditure to purchase that good also
rises, the value of elasticity is

b) less than 1

d) zere

al greater than |
¢) equal to 1

5.  Tea & Coffee are ;
a) Complementary goods
b) Capital goods
c) Substitute goods

d) none

Write the term for the following

6. The functional relationship between
inputs and output in the production :

7. Gross investment - depreciation = ........

8. The cost of next best alternative forgone:

9, Match the following Mxh=2
Factors of Production | Remmunerations "
Land Profit
Labour Interest 13
Capital Wage '
Organization Rent

3. nmIET euIeE i ?
o) UEJAIMe il a28imo
Ml BallRINe il misaao

4. ey amimininies ale pdadlsa)emiog
Eamlm] & alsindlsem me udnlaes;
emn@d menmitlamoias a3els

o) 1- 08 @Sy aul)  1-o8 ;agon
mil) 1-m3 miele all  aljse

5. ad@eje &l
o)) i UM} HaT
ol ajeiwm amimiened
(Ul (a2 IM T80

il SuaDxmIag

MO S alfe nfiPI0]E

6.  amaamomlod meurangle gola
miuge MadlenEs WHAnRAND EUMUAIET

T @)W (eS8 - GMEEIMe = .o
8 mEleasds wRQMie MR ARGINTIE] & .ale

9. Eal@lnls] ealdanis.

fdx =2

felalIBm 2154 arul Indilnnele
k351 | enso
amI¥lm alpllia
21R1WMe | el
MYonBII5Mo fiThEF:Y

Answer all questions from Qn 10 to 16.
Each carries 2 scores. (Tx2=14)

10.  What is a market demand schedule ?
Prepare a market demand schedule 7

10 23mmi 16 (uaE M58 -MEy GadRIsmRdeals
UMEHLPIMIS. RISRIMIMIe 2 mitsd aflme
(7x2=14)

10, pOOOET SEMHDE SolIRM alSle:? 86]
BETUNE EalIAM alSle MUINISaIe?

p 1 2 3 4 5 6 P 1| o2 3 4 5
DIP)| 9 8 7 6 5 4 DI(P)| 9 8 7 6 5
D2(Py | 24 20 18 16 14 12 D2{P}| 24 20 18 16 14 12
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11. Complete the chart given.

(Macs‘o economic sectors of an ccunomy_]

|
¥ ¥ ¥
ED EDIED
12. Distinguish between positive and
normative economics?

13.  State and explain any two determinants
of price elasticity of demand?

14. Calculate value added?

n. ahig o)tomlecleas.

( mmoel qyumocion coneies )
i, i

Hhhh

12, eabmilginl emodaagiol mooumwile. @imiym
onid mule)Es nYmIHEEE LHOmee?

13, caemamien) pesnivlemwies @)
mdemoe ~eisaaras aluden]s?

14, 33ele @)5leadmm &6ma

Firms Value of in:::::d':ife Valne Fii ot b | ERIODAIE | 22k &3S

| output goods Added el 1| LD i Bei0RIN 03800 | Ggibomoi |
A 250 100 | A 250 100 [

B | 400 250 | | | B 400 250

| C 700 550 , C 700 550 |

D 900 700 ' | D 90 | 700 | |

| Total | Total i

15. Classify the statement into two branches
of Economics.

Statement 1 : A consumer's purchase of
the good depends on his income.

Statement 2 : RBI increased repo and
reverse repo rates,

16. Define GDP deflator? When GDP
deflator of a nation is calculted as 85%
what can you say about current year
price level in relation to the base year
price level of the nation?

Question from 17 - 23. Answer_any Six_
Questions. Each carries 3 scores. (6x 3 =18

17. A production possibility curve (PPC) of
Alappuzha district is given below.

15, mOTIELa3M (I MEES (OIS,
womijmanilen) wiesgieaed mee alEea]s.
[ MImIUM 1 B8] Dal@RISMINT (IETEIM
wmimnian) meaol GrwIgIns EIEIMNETM
e ofl@leagmy.

[atmimacum 2 : md enil Qg dleds,
lecugm dledtd mieeajad adniladlalg.

16.  GDP wiadegpilam milduslon)e? ae)
mimymilan) GDP awladegod 85% temaim
IEEMEIT @ RImomian mse wddaom
Baldmy allamleineaom &3] @eslmoim
nudaaom nlawian] memaje & aafm)
e ae M al0micuaed mawleaie. ?

17 aymm 23 uee mmiSIes ©alde)euBghnd

apemEleije @R §alIREIRIDEEH QINGEE2PIM]E.
IERIMAMYe 3 mizadd il fEx3 =18

17, mmelnys dlpjolas galaliem mwminde
(PPC) mamldlesgmg.

a) What is production -

~ afft) ahOuSETT Qafdism

possibility curve? TUIUYRT (Hjho
b} Reason for the shape of | Good2 p &) mamisigs PPC ©3es
given PPC 58 MD]aS &IGANaIT P
¢) Show the change in PPC gﬁgfmm &g@jﬁ;ﬁm}”
of Alappuzha due to the BT TwLIM MY
ood recently happened
J:; | ly happ L Good1 P ST DRI,
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18, Draw the circular flow of income and
expenditure in a simle economy?

19, With an increase in income of a
consumer the demand for some goods
decreases. In this situation.

a) Mention the tvpe of goods whose
demand decreases.

bi Distinguish between the demand
cinrves of narmal goods and luxury goods,

20. a) Find AP & MP of labour
b} Write their equations?

18, 86) aghm moun ayumooles [ueE3aime
Blalein (PImiwIes 1)&la (Hilads
MR )] ST E0TE?

19, 6] WEmies ueaasme bmlgledm
2flE) MINUMETIEIAS EaldBMo £ INATM]
BRI
!} EaldGMo EJ0ET UL i) Dhde
/(45612 IR

)} MUILIGET 2B AG 0 T AWeaIE G
B0 @MW C203M (Ul TWIOS AT T ?

20, )} AP @e MI Do &HIAMIE
) ERONWIAS TU3(TALIE) M HeImle?

L 0 1 2 3 4 5

| oL | @ [ 1 | 2 | 3

4 | 5

| TP 1 15 35 S0 40 48

| TP i 15 | 35 | s0 | 40 | 48

21.  Two types of demand changes are given.
Identify the changes and explain the
reasons for such changes ?

21, GalIBMUMIGE GERIMG BINETRFIET DTl
alaaymul. musw miclydanng 2oqeaud
BEIER SIREMEREE AluEan]e?

| Figure 1

N\

N Demand

Figure 2 \
|

"ha

Demand

22, Distinguish between final goods and
intermediate goods with suitable
examples.

23, The Central economic problems of an
economy arised due to unlimited wants
of people and scarce resources. Explain
the classification of major economic
problems arise in this case ?

Questions from 24 - 27. Answer any three
questions. Each carries 4 scores. (3x4=12)

24, Calculate

a) GDPmp b} GNPmp
¢} GNPfc d) NNPfe
Items Rs. in crores
NDPmp 2800
Depreciation 250
Net indirect tax 175
Net factor income 100
from abroad

2. PRIANGEET MallMs FRATIS alG&0i&E10
ROTIEIE 2RSS A8 (WMITIE S LE ?

3. mMERSINS @RI ddlull o e
MMM Alzemwas] AIGRRIMG SERT]
62860 ucruel oy rumanailal mRsiminIm
TOIMUIG & [JUETETOD DERIS MO, @3
@ [Ememeg wdeled sy nlesaien]s

24 93 27 (UOR MMISIEE CalpjameEind
AROMERe B30T &0 00l S5 HOMEHRSIMIE.

A18@ImIMIe 4 mizedd aflme (Ax4=12

4. gwms o) GDPmp b} GNPmp
¢) GNPfc d) NNPfe

D mem | Rs. in crores i

NDPmp | 2800 '

EmUaIme :25{}

mRgaenas meyol 173

nilentemmy mlmmas 100

@REISHH (IBIAIMe
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25. Prepare a note on the history of the
emergence of Macro Economic analysis?

26, Describe "Returns to scale”

27.  Yedhu's income is rupees 80. He
purchases good 1 and good 2 at rupees
20/- and 40/- respectively.

a) Prepare the budeet set of vedhu
b} Dvaw his budget line
c) Select the bundles on his budget line

d) Show the change in his budget line
when his income increases to rupees
120/

Questions from 28-30. Answer any two
questions. Each carries 5 scores. (2x5= 10

28.  The farmers in Kasargode district
are using Endosulphan to increase
agricultural production. Tt helps to raise
GDP. But the heavy use of this pesticides
makes a harmful effects on health and
welfare of the people in Kasargode. This
is an important limitation of GDP as a
measure of welfare,

a) Explain the economic term to denote
this limitation of GDP as a measure of
welfare?

b} Give another example for such
a harmful effects created through
production.

c) Explain other limitations of GDP as a
measure of welfare

29. Suppose the demand function of a
consumer is d(p) = 30 - 2P for any price
less than or equal to 15,

a) Assuming the prices 0, 3,5, 7,7, 9, 11,

13 and 15, prepare a demand schedule
and ctirve ?

15, muogel mamomle wimimonla eold
pIEmlaT i@l meom &0l 8e) &I
MINIEaJE.7

26, emImMIMIElglEs (wmowemid nlwead
S0

7. wgalen) wezaime 80 BIalwde. @Rl
WO &0e 20 BJalWo 40 AlalDe All2iwias
REME] MXUMETBE (II6mB3mMy.

o) wmaleng aus) amg’ mYInIenis
) EBQIEINS SUE] e (e 805

i) @ewIigies ausy seainleyss
SUETHIEY ST EDEDEINS 6] 5.

) ejeme 120 G0 &)sI0I0T auSy
erDIEEs 300 HITEN]E

28 aymmd 30 ruer MMISIEs & adaemglm

AR MERe G6E aln|Emides HIMENATIM)S.
@2er1mimys 5 mieand alme (2x5=10

28, somdanny dgulesl sddad ooddae
S MalIrMe Ul silseazmalmoo
amienuImda0m Dol gimedemEE
&03m3. oo GDP audnleflengruim mand
wilaagmiad. «prmol @ alsmEnoes
AN PalEDINe SIMBENING HMETE
8165 SANAMMIL0 ERHERICY £5I6) il e
7EIMREAIW [ OYILMEBGIET SarEIS6H
wisiEan. ERM HIEE] MAM DT [nEne
GDP cagammilmnigs 20maemuaid] |amdoml
enymoiod 6ol pamie1my.

o) D7 tdldmlee mgafalenim m
mimke opeoacm aiuelenia ?

oifl) SfetIpmOIEReSs PaRILISIEE DG
{(ImMUlEngo (wITIRRINDEIM e G606
BAINGET a0, P

mil} GDP eanaonimiQjas aimesmuain]
(fidomlenimaimiss a5 weldlmlsd
aluelengs.

29 @6) PaiesIemIang eadam wile
d(p) = 30 - 2P apanian’

0 35 7 9 1113 15 ! nileiaag
ERSHTUONNAIGE] EalI3M alSEEJ0 (Ui Njo
D' E0]a.

)
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b) What is the value of slope of the
demand curve obtained?

c) Calculate the price elasticity of
demand at price rupees 5/-?

30. Described three stages of the law of
variable proportions using a diagram?

Questions from 31-33. Answer any two_
questions. Each carries 8 scores. (2x & = 14)

31.  Diagrammatically explain budget line,
indifference curve and the concept of
'optimal choice' of the consumer.

32, There are three methods to measure the
GDP of a nation.

a) Complete the methods and identities
to calculate GDP?

&l 62138 (WS TWIT 26l 238 agiih 7

M 5 gt A0SR0 Sasmamiaag e
DONTTAD SIE]E 7

30, alljmageewdo]s] nilerneImye nmammamg
B3N] ~IS6REE RSN 8 alg]s,

31 ajmad 33 IO OMISIEs &aldR)aRgs)

ARQMEIL]s GO Eal)3aUnidoa §OTEEAS M.
EIeRITIM0 B MiEaId nilme 2x8=16)

. mued assm, miusemIn o SalerIHmI
e memzelmicumn i slimmlem
MO Al Ees]6.

32, 86 e1ROmle GDP &emiuxg agmy
AIDOEIRGENE,

o)) SIFTINIMIEE SI006mEje
TUBUMSUISTEEe 0o nIon]s.

Product Method

B EIEELEEEEIEASREERESERERERERE RIS

R+W+In=+P

Expenditure Method

b) Explain any two methods

33. A cost function of firm is given

Qfo |1 (2|3 |4]|5|6]|7

o

TC |20 | 30 | 38 | 44 | 49 | 53 59 | 67 | 80

a) Calculate TFC, TVC, AFC, AVC,
SAC and SMC of the firm?

b) Draw TFC, TVC and TC curves of
the firm on the same set of axis?

c) Explain the relations between SAC
and SMC curves?

POAM R | ce——
............................. R+W+In+P
aleinl @i [
&) aarmEIjo BaE] AX00ERT
nilalen .
33 86) Mokmmlem aaanl whme
morElae3m,
elo| 1|23 |4|s|ef7]s

TC| 20| 30| 38 | 44 | 49 | 53 59 | a7 | &0

aft) THC, TVC, AFC, AVC, SAC, SMC
MU &I0T7 5

aul) TFC, TVC, TC sty 666 @naseon
A (T el 38 2:560] (U0 560 )i

milt SAC, SMC ngamiliy maslaggs
gumusteg nluclon]s
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